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0 2d9+¢ 910
O EA22SA3 4 70,000& * 13 * 13 910
[ =&l 1,400
O &4 JAE 23 7,000& » 5% » 40 1,400
202 O4Hl 11,100 12,580 A 1,480
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O &Mz 08 88 20,000&  15% » 37 11,100
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10 EALAHIE A= 3,000 0 3,000
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O 43 28 EX(SENEL) 3,000,000& * 12l 3,000
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O R4S HIS 100,000 = 8&f At 800

O A2t e EaES 1,000,000 * 43 4,000

O FX3X EX# 40,0003 = 204 800

O A2ng=2d WAl 100,000& = 504 500
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O AYSE (2D 20,0008 * 8 * 95 1,440
O ®II.JIH 227 100,0008 * 5HIE 500
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O 3AXNSRE HEE2E= 50
del 30,000& * 1& 30
NEd, I HESR 10,0008 * 2% 20
[ A=l 41,250
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CIXNEAHe= 2F 209,761 231,341 221,580
201 B3| 73,201 127,021 A 53,820
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el EH ¥ &4 300,000& = 404 = 23l 2,400
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mAlZe EH 2 EH 150,000& = 100 = 43l 600

SAD EH EE 7Y 200,000& = 104 = 43l 800

CXE 2eIIEH & & 300,000& = 4&8tA 1,200
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DHFLAIAE(S/W) RAE+ 15,000,000& * 10/100 1,500
SOIHHAIAE RXIE 35,380,000& = 8/100 2,831
HERHIANAE SN2 145,000,000 * 8/100 11,600
EMHOIXI(S/W) RXE= 15,000,000& =10/100 1,500
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UPS RXIE= 12,780,000& = 10/100 1,278
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_8_




SN ANEEAR
Z: X AD|E HE Y RPHEA B4

SR ANdEJAEXNA - B2 - 2EMEIAHSB (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

O &EM2e T2 Jsiid 8,000,000& * 14l 8,000

O ZojeIxtgsNg2e SHOIX JHe 15,000,000& * 14 15,000
405 KHoHESHI 97,500 73,600 23,900
01 T =S HSHI 67,500 43,600 23,900

O OXEXNES BFH WA 1,000,000& * 2504 25,000

[ Zct=Zel ol 2,500,000 = 1CH 2,500

O ZHEIOICIH A 40,000,000& * 14l 40,000
02 =AY 30,000 30,000 0

O OXg He= 30,000

O 88 DWW 2,500,000 = 43l 10,000

O nusEsg 0xEg = 20,000,000& =+ 14 20,000
2ot 2AY 27,640 31,030 A 3,390
201 et 22,840 25,750 A2,910
01 AR 22l 22,840 23,400 2560

O 2d9+¢ 22,560

O A=z 22,560

SN2sHE I ZAE 240,000& * 102 % ~ 98 21,600

SMAENT ZAZ 240,000 = 2% « 28 960

O &= 70,000& * 43| 280
202 O4Hl 4,800 5,280 A 480
01 =Yl 4,800 5,280 2480

O ddEA2 28 & UH2+8 80,000& » 6H = 10 4,800
SN2 EHAIFA 38,040 35,470 2,570
201 Let2dH| 38,040 35,470 2,570




LR ool M
CERI(BI) - MRAR - A 0f &t e 52
01 AtR2teldl 34,040 35,470 1,430
2 t=EH| 34,040
O =3 dd3 o= 800,000 * 23] 1,600
O &4 80,000& * 130 10,400
O dAt=d 70,0002 » 5& * 43] 1,400
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O SAEdE =A 10,000& = 100 1,000
O =A0tetE SALX 2,000& = 2,500% 5,000
O SAOtetE USAMH 4,000& = 13074 520
O 28 SAIIS AsSA 10,0008 * 12Jt= 120
O s 80,000& * 302l 2,400
O dAEH S 300,000 * 42| 1,200
O s2oM= 150&  2,00001 = 83l 2,400
03 A2 HI 4,000 0 4,000
O og=s 59 800,000 = 52| 4,000
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a2 17,0008 * 165 * 122 3,060
& Xl 11,0008 * 50& * 12& 6,600
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st= A28 3l OlAb2lHI 300,000& = 12 300
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d=CAN2UES &t 300,000& = 12 300
202 OdH 13,600 14,400 A800
01 SLHAOH 13,600 14,400 A800
O &=A2 U &4 80,000& » 5& = 10 4,000
O &=A2se & AL &4 80,0002 * 5& = 10& 4,000
O Al8g R 80,000& » 4% » 10 3,200
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401 A EHIL 201 30,000 0 30,000
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O H=2E42 =4 SAt 30,000,000& * 1JHA 30,000

_12_




SN NEEN
I NADIY &5 U 2HTA S4
CHol H2C A BHE (=S L
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
405 AHoHESHI 60,000 0 60,000
01 T =S FH SHI 20,000 0 20,000
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02 EA-HI 40,000 0 40,000
N2 &N 40,000,000 * 10 40,000
SEHQ 2N 2 199,510 0 199,510
101 14| 63,372 0 63,372
04 JIZHMIZ2XEE =+ 63,372 0 63,372
O JIZH 22X B4=(7HL) 56,700
O Jl=s 25,0003 798 » 260 45,500
O =5 25,000& * 798 * 52 9,100
O EAx==¢ 25,000& * 798 * 12 2,100
O JIZtH220 EE8 fE3 6,672
O AL2BE"= 56,700,000& * 2.54/100 1,441
O LI RABE= 1,441,000 * 4.78/100 69
O =os:2gx 56,700,000& * 4.5/100 2,552
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01 AtS 22l 28,932 0 28,932
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_13_




M ANEEMB
B XAl HE Y BTl B4

= &85_/\%7;?%“3@ (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
Ot 2= 17,000 * 84 * 123 1,632
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O g9a= 40,000& * 5IH2 * 48] 800
O 30 2H & 223 30,000& * 84 * 43| 960
O EALEE 200,000& * 8= 1,600
O MDISE 400% * 4,0000H 1,600
02 ZE=234l 13,340 0 13,340
0 =322 ¢ HMA 11,940
O Hd3t & HERZ d238d AHE= 120,0002 * 8 = 12& 11,520
O 2= 60,0008 » 7042 420
O AIE & HIs Xl 1,400
O HdESA el 200,000& * 74 1,400
03 A2 HI 9,450 0 9,450
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202 O4Hl 2,400 0 2,400
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69,728 216,218 A 146,490
HI(AEEA2) 69,728 216,218 A 146,490
QI 24| 63,648 210,138 A 146,490
B 63,648 124,966 A61,318
0z 63,648
O Azt 7,800 % 17 » 40Al2t » 12& 63,648
AR = A 4,880 4,880 0
A H B =X 680 680 0
[ A X EHY| 40,0002 * 17¥ 680
PAR2HYY I =X 4,200 4,200 0
O AEEd 350,000 * 12& 4,200
XD 45 HH| 1,200 1,200 0
M Z A D452 1,200 1,200 0
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S K0 10,000& * 158 = 23l 300
INE =31 30,000& = 205 * 12E 7,200
SAMEX 20,0003 * 1002+ 2,000
TS 20,0008 * 105 200
AN FE S 7 300,000& = 43 1,200
O A=UFH| 1,600
S31& et us 150,000& = 1€& 150
ds)l € fE=2 W= 350,000 = 1&8 * 23| 700
AEGNFEF=2 (I, IH A, SLI],AEBSS) 150,0008 * 18 * 53 750
O felddlsgs 400,000 * 123 4,800
0 =2g=¢ 20,660
O g3l 20,660
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